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Question Number : 1 Question Id : 4771872907 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rakesh. a Class-IX student 1s actively involving in co-curricular activities than

curricular activities. This relates to

Options :
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Question Number : 2 Question Id : 4771872908 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT principle of child development
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Options :

a

Development proceeds from general to specific responses
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Development follows the principle of interrelation
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Development proceeds in the direction of the foot to head
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Question Number : 3 Question Id : 4771872909 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List-A with stages as given

under List-B with respect to Erikson’s Psycho-Social Development Theory

L T83,-B 88ohd_ ArBoen Zosnideolin 2eodi
List- A List —B
T, A =~ B
(Period of Development ) (Stage)
(2D, B0 9RD) (209)
A)  Birth tg l% vears 1)  Initiative Vs Guilt
280 11 mmeriets YUESE vs UETE '_':,rg
2
B) 6 yearsto 12 years i) Autonomy Vs Doubt
6 B=r&eR 12 ==rrigs 2, 0%2.8 vs Rodie=
C) 3 years to 6 years 11) Trust Vs Mistrust
3 =@rhew 6 WRNTY oWE vs BETows
D) l% vears to 3 years iv) Industry Vs Inferiority
11 Z=roon 3 marriss 0TI vs BevlEh
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Options :

A-111, B-iv, C-1. D11

1. ¢

A-iv, B-m, C-1. D-11
2. %

A-in, B-iv, C-11, D-1
3. %

A-m, B-1, C-1v. D-n1



Question Number : 4 Question Id : 4771872910 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development
of a child
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Options :

Development 1s comprehensive than growth
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Growth includes quantitative aspects; development includes both
qualitative and quantitative aspects
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Maturation and environment influence child’s development
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Growth 1= comprehensive than development
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Question Number : 5 Question Id : 4771872911 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct statements regarding the role of

heredity and environment on child development
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A) Heredity plays a role in physical development of the child
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B) Environment plays a l’OlE mn the emotional and social development of the

child
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C) Development is the product of environment and heredity
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Options :
A.C.Donly
A C, D==g
1. ®
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Question Number : 6 Question Id : 4771872912 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to
perform the problem independently. According to Vvgotsky. this is

W, BB LB §o8, WRER (Mensuration ) 3R NN, ARFLRTD,,

L . g =, — o —. -2 PR T | I g, i . . R, N [ R ——
Iauu:Cv.-LZMﬁ.lvﬁ f\.-f&we P ME\.;_ S i 2 ar v F\J_—rEG%"wLﬁ ﬂ.'la'\.h.;--|.|2’,':-\.'.1-"\.-\.-1= i Eed & O Pl Al g )
- - — - P Y Q. . b . — 9 e —

-u:Eu @"Mf% LC?.US...‘IM:, Cﬂ:Eﬁb\JuﬁuE:&waom_ ﬂgfiuﬁbfhﬁ_’:u.ﬂ u::‘,u?_.u, ey
L - o

Options :
Scaffolding
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Fading
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Question Number : 7 Question Id : 4771872913 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per Kohlberg's Theory of Moral Development, in this age. the child behaves

with obedience for avoiding censure by higher authority or social systems.

Options :

4 to 10 years
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10 to 13 years
10 o 13 ==Fnsa
2.¢
3 to 8 years
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8 to 13 years
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Question Number : 8 Question Id : 4771872914 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wechsler's Block Design Test, Picture Arrangement Test and Object Assembly

Test belong to this type of intelligence testa.
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Question Number : 9 Question Id : 4771872915 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dynamic organization within the individual
of those psycho-physical systems that determine his unique adjustment to his

environment”.

Options :
Hillgard
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Allport
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Carl Jung
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Question Number : 10 Question Id : 4771872916 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

A (Class-X completed student wants to continue his study and at the same time

wants to joln work to help his family due to socio-economic condition. The

conflict being faced by the student here 1s
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Question Number : 11 Question Id : 4771872917 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements regarding the methods and approaches of Child
development
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A) Case Study Method is not applicable to an individual
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Introspection Method lacks reliability. validity and objectivity

C) Observation Method can be used to assess the behaviour of an individual
in natural conditions
R RNFE WOAENTD.., W;2.0% IRTeIONR, ArarokRos DeE e ATRREN

)

v —
Wz C-.-QD«.-'W-

D) Experimental Method advocates the study of behaviour under completely
uncontrolled flexible conditions
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Choose the correct one

Options :

ABCD
1. ®
A B, C 0111:5'
A, B, C ==,
2. %
B. C only
B, C =%,
3. ¢

A.C.Donly

A C.D==g
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Question Number : 12 Question Id : 4771872918 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Decision making. Problem solving and Logical thinking belong to this domain

Options :

Psycho-motor
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Conative
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Question Number : 13 Question Id : 4771872919 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify those that are relevant to learning
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A} Unlearning 1s also considered as learning

B} Learning 1s a product and not a proce
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C) Learning prepares an individual only for any maladjustment
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D) Learning results in behavioural change through practice
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Choose the correct one

Options :

- ABCD
A, B, D only
A, B, D=nE,
2. %
A, B, Conly
A B, C ==s;
3. %
A, D only

A, D Eng
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Question Number : 14 Question Id : 4771872920 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the items in List-A with the needs they represent given under List-B
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List- A List —B
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A)  Elders support 1)  Esteem needs
30050 Wouww momaE wng;nss
B) Social status 1) Safety needs
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C) Sleep 1) Love and Belonging needs
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D) Affection 1v) Physical needs
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Choose the correct one
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Options :
A-in, B, C-1v, D-11
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A-11, B-1. C-1v, D-in
2.

A-11, B-m. C-1v, D
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A-iv, B-1i. C-1, D-11



Question Number : 15 Question Id : 4771872921 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the correct sequence of the steps involved in

learning process
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Options :

Goal. Motive, Overcoming obstacles. Achieving desired behavioural change
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Goal, Overcoming obstacles, Achieving desired behavioural change, Motive
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Motive, Overcoming obstacles. Achieving desired behavigural change. Goal
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Question Number : 16 Question Id : 4771872922 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the factor of learning which iz associated with Men and Material

resources
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Options :
Proper seating arrangement and peaceful environment
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Linking the recent learnings with those of the past
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Question Number : 17 Question Id : 4771872923 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the theories given under List-A with the basic principles given under

List-B

List- A List—-B
- A 28,-B
(Theory) (Principle/Laws)
y |
(ATR408) (EEMERDNCEatS))
A}  Operant conditioning i)  Learning is based on the principle of
=Egecks’ WRRIOER aasoclation and substitution
3d8cks =R =y, Boednredh 2 N0,
S DAT
B) C(lassical conditioning 1) Stamping in correct responses and
0T, T3ocld WTitioRgR stamping out of incorrect responses
=00InE &28,0hndm, Tebmm
=Bs, 37, B,88,0dhnTN, SNtz me
C) Trial and Error 1m1) Emphasis on perceptual
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%30k Sdircpuided woedd wis,
1v) Emphasis on response rather than

stimulus
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Choose the correct one
TRe, =04
Options :

A-m, B-1, C-n
1. ®

A-iv, B-1, C-11
2.

A-iv, B-m, C-11
3. %



A-1i, B-iv, C-11
4.%

Question Number : 18 Question Id : 4771872924 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the

student reflects this step of social learning.

oy e i et e £ A S - P T — = | — R s - | L - R PR R S 1y
"ww;f Tt | ] P aWLE:.@FM.QvE ﬂv B ) b o o Wjuﬁﬁ&».-’“b =) we-a’.arf\‘:’ &u?,_ﬁl’i&bﬁ A E\.‘A.-E:».:
B Fy . e QP F, Y M e Jy — DD — — . - e 2 — o T ] S P -l e
ErockimbE LEEILTDEITOINNY, NTonAt, 8Ty Thnthd =seds ﬁu@ﬁ\":ﬂmqa e, T,
o S e I g, 7, 3 L - J — E o (- e - |
Euw&.‘@?ﬂﬁ- T,000000 Al FUEOW 24 ettt S WoWRATE.

Options :
Attention
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Reinforcement

Retention
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Question Number : 19 Question Id : 4771872925 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the aspects that can be transferred from one

situation to other situation of learning.
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B} Knowledge
@5
C) Skills

F2I Ny

D) Feelings

Choose the correct one
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Options :

A.B,C.D
1.¢

A.C.Donly
A, C, D =»3

2. %
B. C, D only
B.C. D ==g,
3. %

A, B, Donly

A B, D&ws
4. %



Question Number : 20 Question Id : 4771872926 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class—VII student tried to recall the concepts of Class-VI but the concepts
learnt in Class-VII are interrupting him. This 1s due to
VII R¢ Sndod dmfrods VI 2 Sdnidod Zoso,, 2ndns, S8&a8ned, 00 8088 A0Rs
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Options :

Proactive inhibition

1. %
Repression
Y]
2. ®
Amnesia
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Retroactive inhibition
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Question Number : 21 Question Id : 4771872927 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Suggest the aspects which help individuals to improve their memory and
retention abilities

e, o s, — el e S I — it
B, 2000 EORREFNTEs, AGR0RLr Am0h TREE

A)  Appropriate motivation
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E} Over learning

C) Being more emotional
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D) Association of ideas

Choose the correct one
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Options :

A.B.C.D
1. ®
A, B, Conly
A, B, C &%
2. %
A. B, D only
A B, D&%
3.

B.C.D only

L % B.C.D ==s



Question Number : 22 Question Id : 4771872928 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students
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Options :
Gifted
R YV A
1. ¢
Learning disabled
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2. %
Physically challenged
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Slow learners
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Question Number : 23 Question Id : 4771872929 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this learning. Learners initiate and advance their learning by more
experienced partners
& 208chd,,, Fdohommor T, B TOLLTT0n Bw, FUSCLRL, T OcyANE:
Zhdh, sooriabahm. 8

Options :

Insightful Learning

% we¥Rmeeigy, 502
Imitational Learning
I Totanldon ol 1)

2. ®

Programmed Learning



Question Number : 24 Question Id : 4771872930 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among
students
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A} Set clear and specific goal

B) Make goals dynamic with revision at regular intervals

L | - o . w0 o o,
RRTEEONI, EREHASRT,

D) Letstudents own their progress
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Choose the correct one
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Options :
A, B. Donly
A B, D=ns

1. ®
A,B,Conly
A, B, C =58,
2. %
A, C,Donly
A C D==g
3. %
ABCD
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Question Number : 25 Question Id : 4771872931 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In SQ3R method. the learner has to follow this sequence
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SQ3R L7RE0,,, 3dohinRT: S WS mER, 9Fis0RdE:

Options :

Survey, Question. Review, Read. Recite
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Survey. Read. Question, Recite, Review
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Question Number : 26 Question Id : 4771872932 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Phases of teaching given under List-A with the associations given

under List-B

=nreli
List- A
T, A
(Phases)
(Zo3rish)
A) Pre-active

[ e .
SREF ALl

Inter-active

B)

C} Post-active

Chooze the correct one
FonTER, ©0A

Options :

A-1, B-11, C-m
1. #

A-ni, B-1, C-11
2.

A-1i, B-11, C-1

A-11, B-1, C-m

i)

iii)

List—B

=,- B

(Association)

(ﬁc@)
Conducting Group activities in the
class
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Question Number : 27 Question Id : 4771872933 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following strategies has less scope to promote group learning
among learners?
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Options :
Dizcussions

o
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1. %
Brain storming

5 % ST oY
Lecture cum demonstration
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3. ¢

Seminars



Question Number : 28 Question Id : 4771872934 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement among the following regarding guidance

and counselling

Options :
In directive counselling. the counsellor plays an active role in

understanding problem

AReFIR AnnSandRehd, | ITEMUR: ITE,0NE, FFaR&iaT, m,,
3305 Y ET, BRTTUE
1. ®
In non-directive counselling. the counsellee plays an active role
ATergReet snndaniiehd, ., ICEMOT 0L DYWL, TLITLE
2. %
Directive counselling 1= also called as elient-centred-counselling
AR ARSRrERchE, .08 -2r0RB-AnRSARER wote FO0HTITRE,T
3.9

Vocational guidance helps in career planning and professional

development
Y i — e ;2 Y o e m e m D T - —— -
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Question Number : 29 Question Id : 4771872935 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List-A with the activities given under

E = A
(Learning style)
(883 3,9)
A)  Visual learning

— -

3
0,3, T
=

B) Auditory learning

L™
b e

C) Kinesthetic learning

Options :

A-1, B-ii, C-11

1. %

A-11, B-3i, C-m
2.

A1, B, C-mi
3. %

A-m, B-1,Ca
4. %

ii)

iii)

List —B
=, B
(Activities)
(Besomisdnies)
Listening to tape recorders
dem® dmmroT YR, LIRHT
Understanding Gestures
RN NTR, UFFEmAIAT,RT
Preparing models

e, s 15, o D ﬁr e e,
(b 2 w5l1§:’ﬁuq Nw.qh&#u%kuu
&



Question Number : 30 Question Id : 4771872936 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teacher can promote team work. leadership. conflict management and

interpersonal skills among learners in this type of learning

Options :

Co-operative learning

=50 202
L g s
Teacher-centric learning
58% Scoly,E 802
2. % 7
Self-learning
=050 252
3. % -
Subject-centric learning
DEodh Feol) @ BUE
4, ®
Language I Kannada
Section Id : 47718797
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187153

Question Shuffling Allowed : Yes



Question Id : 4771872937 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 33)
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Sub questions

Question Number : 31 Question Id : 4771872938 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

s o
PLD3RCLI0 HOTT?

Options :

Question Number : 32 Question Id : 4771872939 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



203 WOT BReAngm, CEMRY  emansd  won, GeRBCHRTY WATCHITINTT
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203069

Options :

L ™, E
QERACH WTeRd

1. %

B0% MIDRCTINS oW
2.

LOBIIDOT BREENTG Tkl
3. %

:S;i:im Lptelel
4. %

Question Number : 33 Question Id : 4771872940 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

20TOT BReSND CllE TEIN FeDR?

Options :

F03) :b& patelnt
1.¢

ned eI Xedad
2. %

NRIT TO3B

3. %
g sufoing Jos.
4. %
Sub-Section Number : 2
Sub-Section Id : 477187154

Question Shuffling Allowed : Yes



Question Id : 4771872941 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (34 to 36)

Sub questions

Question Number : 34 Question Id : 4771872942 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

i e e N 5 .
Leotiohath wYtn, Rt RecdAtRi.

”
e =)

[+3
s

Options :
T
1. ®
335
x4 iR
=, =
3 % 2P
RROLF
4, %

Question Number : 35 Question Id : 4771872943 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘20 I00 wgrdesh?
Options :

AT
1. ®

: Yes Display Question

: Yes Display Question
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Question Number : 36 Question Id : 4771872944 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

n
w5

genems’ fDdond detimt Q089

Options :

Sub-Section Number : 3
Sub-Section Id : 477187155
Question Shuffling Allowed : Yes

Question Number : 37 Question Id : 4771872945 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

ARy #0323 moma, LoD 5D
o =

Options :

o AReHTE
1. =

CoE00E
2.¢

\:Z'TFF;
3. %
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Question Number : 38 Question Id : 4771872946 Question Type :

Number : Yes
Correct Marks : 1 Wrong Marks : 0

RGN TOTCLDoL ﬁér

Options :
e ooom
1. ¢
E};ﬁ'E'LU
2. %
© i ods meohd
3. %

Question Number : 39 Question Id : 4771872947 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks :

STTesd TOOST CINT AN mppacd Tpa wobi

- i

Options :
:.,\,{ WINT WLoRY
1. %
&'Diﬂ?w
2. %
Boea R
3. %

TR ITIND
4. ¢

MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 40 Question Id : 4771872948 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

A ai s Envid)
1. ® h

SEINEWD
2. %

Towdade
3.¢

Question Number : 41 Question Id : 4771872949 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
¥Q ToNU FORT TOILS” 20w DURE TNC FORC BRGOWTON, LOTHW 0TT
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Options :

1. %
2. N

He=0 Doa=oR
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Question Number : 42 Question Id : 4771872950 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

o 3 o
HFFT 0w YUIRE0R

fln@
4, %

Question Number : 43 Question Id : 4771872951 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 44 Question Id : 4771872952 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Honed’ H0LTH
Options :

T T I S
eoes Aol

1. ¢

=Tatvsli-dela)
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4. %

Question Number : 45 Question Id : 4771872953 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 46 Question Id : 4771872954 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771872955 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771872956 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
‘WD R0 BN’ VRO THMROD o3
Options :

;
2008e5

1. #®

2. %

3.¢

4, %

Question Number : 49 Question Id : 4771872957 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
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Options :
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Question Number : 50 Question Id : 4771872958 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

333 HonR F3oh TIF?
= B el

Options :

1. ¢

Question Number : 51 Question Id : 4771872959 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 52 Question Id : 4771872960 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
"LETDE DOLNTLIN B R B BEmnoDRTEU
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2.9
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4. %

Question Number : 53 Question Id : 4771872961 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771872962 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(0
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Options :
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Question Number : 55 Question Id : 4771872963 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

2006
1. %
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3.¢

2005



Question Number : 56 Question Id : 4771872964 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
T ﬁ%‘»ﬁ?ﬁ@-ﬁﬁég RO To3IT med o= P TToBIB )

Options :

40:60
1. ¥

30:70
2. %

60:40
3. %

50:50
4. %

Question Number : 57 Question Id : 4771872965 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771872966 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
te3! ﬁ@ﬁa@ﬁ%ﬂg CTRREnn bFEE S0T8

Options :

R4 .

4. %

Question Number : 59 Question Id : 4771872967 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 4771872968 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0
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=
Options :
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4, %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

BEemd gl esResons

hed

Language II English

47718798
3

Online
Mandatory
26

26

30

0

1
477187156
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Question Id : 4771872969 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:} iz a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia.
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget. according to the
agency's Office of the Inspector General

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space statlon 1s allocated to different space agencies based on their financial and
other respurce contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771872970 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to varipus

space agencies based on the following contribution.

Options :

soclal service-related
1.

environmental
2.

finanecial and other resources
3. ¢



educatignal

Question Number : 62 Question Id : 4771872971 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continupus human presence since the year

Options :

| = 2022

v 2000
1998

3. %

\ 2011

Question Number : 63 Question Id : 4771872972 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement about the International Space Station (ISS).
Options :
It i1z a multinational initiative and the smallest single structure ever
constructed by humans in space.
1. %
It 15 a multinational initiative and the largest single structure ever

constructed by humans in pcean.
2. %

It 15 a multinational initiative and the largest single structure ever

constructed by humans in space.

It 1s only NASA's initiative and the largest single structure ever

constructed by humans mn space.



Question Number : 64 Question Id : 4771872973 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %
Russia
2. ®
Japan
3. % P
The United States of America
4.

Question Number : 65 Question Id : 4771872974 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA), the ISS operates as a collaborative

program of the following.
Options :

Europe, the United States of America, Russia, Canada, and Japan
1.«

Europe. the United States of America. Russia, India, and Japan
2. ®

Europe. the United States of America. Germany. Canada. and Japan

Europe. the United States of America. Russia, China and Japan

4. %
Sub-Section Number : 2
Sub-Section Id : 477187157

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771872975 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. %

There, their
2. %

Their, they
3. %

They, their
4.

Question Number : 67 Question Id : 4771872976 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: She came here to studying at the college.
Sentence B: She came here to study at the college.
Choose the correct option.

Options :

Only the sentence A 1s correct.

Only the sentence B is correct.
2.

The sentences A and B are correct.

The sentences A and B are incorrect.



Question Number : 68 Question Id : 4771872977 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

% fastly
quick

2. #

3 @ quickly
slow

4. %

Question Number : 69 Question Id : 4771872978 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1. ¢

gave up
2. %

glve up
3. %

ave back
4% B



Question Number : 70 Question Id : 4771872979 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obey you unless you talked to him politely.
1. %

Sharath will not obey vou unless you don't talk to him politely.
2. %

Sharath will obey vou unless you tallk to him politely.
3. %

Sharath will not obey yvou unless you talk to him politely.
4. ¢

Question Number : 71 Question Id : 4771872980 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.

1. #

The car was being driven by my brother.
2.

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %

: Yes Display Question

: Yes Display Question



Question Number : 72 Question Id : 4771872981 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me your cycle.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his eycle.

1. %
I requested my friend to lend me your cycle.
2. %
s I requested my friend to lend me his cycle.
. My friend requested me to lend his cycle.
4.

Question Number : 73 Question Id : 4771872982 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he is right.
Identify the meaning of the word ‘abundant’.

Options :

ample
1.

meagre
2. ®

minimal
3. %

acant



Question Number : 74 Question Id : 4771872983 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history 1s profound.

Identify the opposite meaning of the word ‘profound’.

Options :

| % sincere
scholarly

2. ®

_ erudite
superficial

4,

Question Number : 75 Question Id : 4771872984 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called

Options :

anthropology.
1. %

ornithology.
2. ¢
3 % zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771872985 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom “a dark horse’.

Options :

A wild animal

1. %

A black horse
2. ®

An unknown entry
3.

A front runner
4.%

Question Number : 77 Question Id : 4771872986 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. ®

maintenence
2.9

exclamatory
3.8

colleague

4, %



Question Number : 78 Question Id : 4771872987 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :
Conversion of agriculture into forests land is weakening India’s monsoon.

1. #

Conversion of forests into monsoon land iz weakening India’s agriculture.
2. ®

Conversion of monsoons into agriculture land is weakening India’s forests.

Conversion of forests into agriculture land is weakening India’s monsoon.
4. <

Question Number : 79 Question Id : 4771872988 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday. ?
Choose the correct option to complete the sentence.
Options :

wasn't it

1.

18n't it
2. %

s 1t
3. %

was 1t



Question Number : 80 Question Id : 4771872989 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D

Options :

Question Number : 81 Question Id : 4771872990 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’s were very energetic and eager to perform their duty.
1. ®

All the five men were very energetic and eager to perform their duty.
2.

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771872991 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country. people often

Q:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that theyv themselves are

Choose the correct option.

Options :

2.

3.

4.

P.Q.T.R.S

P.T.Q.S. R
'y

PR Q. T.8
®

P.T.R.Q.S

®

: MCQ Option Shuffling : Yes Display Question



Question Number : 83 Question Id : 4771872992 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

) The wisdom is the gift of heaven.

The rose is the sweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771872993 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid
1.



Question Number : 85 Question Id : 4771872994 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 1sa/an
peop ;

Options :

story.
1. %

conversatlon.

2.
essay
3. % :
apeech.
% 0

Question Number : 86 Question Id : 4771872995 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner

1.

Noam Chomsky
2. %

Antony EM

Brendan J. Carroll



Question Number : 87 Question Id : 4771872996 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom. an English teacher should create an environment
that is

Options :

focused on writing and giving home assignments.

1. ®
strict and following formal methods of teaching.
2. ®
stimulating, inclusive, and focused on student participation.
3. ¢
teaching and learning that relies solely on the textbook.
4. %

Question Number : 88 Question Id : 4771872997 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1s inappropriate for the English mstruction at the primary
level.

Options :

Friendship and Kindnesa

1.

Sports and Games
2.

Home and School
3.

World Heritage and Culture



Question Number : 89 Question Id : 4771872998 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. ®

express oneself intelligibly. reasonably and accurately.
2.

assist learners in writing without making grammatical errors.
3. %

develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771872999 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1s correct.

1. %

Only the statement B 1z correct.
2. ®

The statements A and B are correct.
3.9

The statements A and B are incorrect.
4. %

Mathematics



Section Id : 47718799

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187158
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771873000 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rational form of 3.7 iz

37
99

34
99



Question Number : 92 Question Id : 4771873001 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

[(=3) X (—4) X (=5) X (=6) X (=7)] =

Options :

—2520
1LV
2. %
, % —1260
1260

Question Number : 93 Question Id : 4771873002 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The population of a town 1s 108090. Out of which 29040 are men and 28105

are women and the remaining are children. Then the number of children 1s

otiv B, o0 wRRes3; 108090. @=Td,., 29040 To=Th =, 28105 =hdePohTo
g . &

=1 -

51945

51845

50945



Question Number : 94 Question Id : 4771873003 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The marks got by a student in 4 subjects in an examination are 228. If the

average marks of 3 subjects 1s 56. then how many marks did the student get 1n

the fourth subject?

64

Question Number : 95 Question Id : 4771873004 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?

s

- 3 2 o -
& BYNT WIRTW YR Tracks sRw?

Options :

o8

100

23
25

10

11
3.

57
59



Question Number : 96 Question Id : 4771873005 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If each side of a triangle 1s 3 rd of its perimeter. then type of the triangle 1s

- A e \ g i 2 -
330enT 803000 wHCh: BET TOH0H FonTRe wore (_) 71 $AG, 8, &ineaa
E
T gl
Aty
Options :
Isosceles
% SR eEs &8nE
Equilateral

) DTLTDES

Right angled

- 3 —
LoliERrn

4.%



Question Number : 97 Question Id : 4771873006 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following number is divisible by 67

s

- L — o o -,
1 29AS cdtom Bol;ohs 6 Dol Pohne od .57

Options :

179184
1LV
143354
2. 8
3 % 800552
726352
4. %

Question Number : 98 Question Id : 4771873007 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of millimetres in 100 Kilometres is

P T T o™ T T o e o ol
1G0 SE RTINS L | dolinekdTING =g

Options :
| » 10°
i 4
2. %
6
- 10
108

4.9



Question Number : 99 Question Id : 4771873008 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges 1n a tetrahedron 1s

4
1%

6
2. %
3.8 8
4% 12

Question Number : 100 Question Id : 4771873009 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60cm long wire iz used to form following shapes. Which of them will have

shortest side?

Options :
a square

—
Lodluw 19T

1. %
an equilateral triangle
ATLLPDTL &BRcE

2. ®
a regular pentagon
NORENT oW, S

3. %

a regular hexagon

Py e, T,

el s - B
w0002 02 mﬁuntﬁ?sgs

4.9



Question Number : 101 Question Id : 4771873010 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

3BX3BX3B-26X26X26
38X38+38X26+26X26

Options :

1
1.

[

144

64

3. %

1728

Question Number : 102 Question Id : 4771873011 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price is 8:10. The profit percent is

) o T e e, p— p— T — 2 & e, el . e, 2 PP | = pgominky mpnl
§u€‘:’u“;"‘uﬂ W b o e CoEsln WOt \£'_\.|v134.-'_,\‘3a 8_10_ \-r‘_,zf.ll.u d«fuﬁbiﬁ-:ﬁ.ﬂ-

Options :



Question Number : 103 Question Id : 4771873012 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s NOT correct?

= Phamgngd.., cdonns Rochy 7

Options :
- 15
15 tenths = —
10
15
15 =22 = —
1
1. %
3025 grams = 3 kilograms 25 grams
3025 mye = 3 #Sneme 25 Mo
2.
Area of a rectangle 4.5m X 0.5m = area of a square with side 15cm
=0hEW D.:00F4.5m X 0.5m = WACHRE, SRohTem 18T L4 27 15¢cm
3. ¢ :

0016 =16 x 1073



Question Number : 104 Question Id : 4771873013 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The place value of 0 1n 2225.106 1s
2225.106 S9., 0 T =2, =3505
Options :

Hundreds

— o, —
Pl ) o

Tenths

[\

b5
Bl
|('ll.
2l

Hundredths

- —
R ol Ty

4.«



Question Number : 105 Question Id : 4771873014 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

i 1 i ; A :
Ramu gave his sister s th of chocolates available with him. He gave his brother

2 e i
: rd from the remaining and left with 48 chocolates. The number of chocolates

available with Ramu at first 15

—_— ! o, — L 1 - - - - = - 2 —
Ttk Sr, WY /G, BT nre — M, B, feYatat éuﬁb&\u;_‘f\l’u_ guETmmnes  — Y, B,
g ) et O e = B el - | = [ | o R BTN (e gl N
-‘UW\E{WUNH g-@v;-uo; 48 E-EE-JEEE—' |"|:‘7'\-"?,Gafi = e K Coaad WS oo ﬁ-!l;rt,"u-lw,-\



Question Number : 106 Question Id : 4771873015 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers i1s divisible by 2. 3. 6 and 8?

Options :

24810

Question Number : 107 Question Id : 4771873016 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
4 men can complete a work in 24 days. then 12 men will complete the same

work in how many days?

B FUARE, ey, Osndd,, BrooFiefaeE, 87
Options
s
s
1. %
2
2. %
3. %



Question Number : 108 Question Id : 4771873017 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

35m? is the area of

m?2 2w D erTRE

LA

3

Options :

A square having side 35m

35 foe D3 rEss, Eechtid Widn, s
1. %

5 squares having side 7m each

Fon 7 Qoe DI rERs, SRolTiE § wEiEa, R
2. ®

S Fmns, Bwolitis 35 WE e, R

3.¢

7 aquares having side 5m each

1}

[ — it - I — | s —
@ § dor T3 russ, SwolTom T EemEe,



Question Number : 109 Question Id : 4771873018 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands 8 hundred sixty-nine in numerals

can be written as

- P = — T o i  —— IR S| o el g - I o - g o, g |
3 :u?f:n.'r \_!E 4 g ) o 8 A &UUJE\.-E C?...-.s... -uc:-.ic et Bl -u::-.i't b Cﬂfi] ?NUU-M?-'UWUWU
i == e L

Options :

30604869
1. ¢

360400869
2. %

36004869

, % 306048060

Question Number : 110 Question Id : 4771873019 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
(3%)* =

Options :

D92

4.9



Question Number : 111 Question Id : 4771873020 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

; .
There are 72 students in a class. If the number of boys 1s - times the number of

girls. then the number of girls 1s

3 T 0 vt o e, gt - & m e
St ?2 MWL‘-‘_@PI el b mvﬂuﬁu N::-JE, =ttt alevalel N:;—l{:’ﬂ

Question Number : 112 Question Id : 4771873021 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :

The number of points present on a straight line are

= BRIt ks z -
el TeIootht T Wollane o,

0
|, %

2
). %
3¢ @



Question Number : 113 Question Id : 4771873022 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an even integer when 1 is an odd integer?

o — - — z
1 B3 BRFEarosmnme N = 29Nsn

Options :
| x bn + 8

3
2.-f3n +5

3n? + 4
3. %

An -
4. %

Question Number : 114 Question Id : 4771873023 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 1= A and mean of odd numbers less than

: A
101z B, then s

g . 5 5
25 3,02 3B 0E Ldn; Aol;ne Det. A =hw 8 =8, 10 3,08 3R Tm R
- - [ t - A
R0 NT AToR0 B f.-'ﬁw:_.u, E =
Options :
20
1.¢
25
2. %
24
3. %
18

4.%



Question Number : 115 Question Id : 4771873024 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Whach of the following best describes the nature of mathematics?

3 = )
T [N DL (g L | — o e, o e, ! . — . — T e T e
ﬁm'&w N-rb-ﬁ\uhb’wwﬂr'\-l: g%’h'\-%f =l :wa.lﬂrw llt"".lE'-__."n..-.J.u-Zn.da.ﬁ < EAJ'E}-UH __.L-\.I?

Options :
It involves abstract thinking and logical reasoning.

AR B NS o gy Y - —
e PUEoREF W03 n TuEy

1. ¢ -
It 1s limited to solving routine classroom problems.
fi BRAE;E Sondod AmhA NN, D0R0RRTE,; AcdImn,
2. %
It is exclusively concerned with principles
ok B2 rien =508, ScwofAd,
3. %

4. %



Question Number : 116 Question Id : 4771873025 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a child 1s consistently strugghng to count beyond 20. what should a primary

mathematics teacher do first?

Options :

Doing challenging addition problems.

Reciting the numbers.

P - ! | e

2 8 ?&cﬁgrwc\..: zauuwwv

Conduct of daily tests.
0, Ro0s B0EnvRy, SEIT/T.,
3. %
Strengthening counting skills by utilizing concrete objects.

2 oppe el s oD e e = 2 e,
4 ~c’/’? E:E;f&? h;\&rgf_’uu wgﬂéuﬂb:ﬁu @ ;%D&.« E";u\wﬁﬁ‘—'-;uﬁ uu:&-—uu%:;v_



Question Number : 117 Question Id : 4771873026 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A rubrie 1s:

Options :

A standardized test prepared by the experts.

—_—
c«.q...e--u

et |
et

o

@l

1 ’ -
e fiovim sl =t =
SIS E‘Efuvﬁ b:‘g_

1. #®

A multiplication and division trick to answer within seconds.

- L o e s — .t -—
Agomangd_ ¢uE DAL NorEosaC S, YPormeao 20,

3. e



Question Number : 118 Question Id : 4771873027 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the features of mathematics histed in A with their corresponding actions

in B.:

2 3 g
=nobd
A B
A) Creativity 1) Breaks down problems logically
N E.‘.M..EJ’“ -U-.-.L--u r;‘—”'\.lu ’a% vE mE,..'}-’—' E__.
B) Analytical Thinking i1) In-depth conten anv]edge
DI =08, B 22oER SETT Q0L PR
C)  Communication 1) Use innovative methods
— g, ——— T T — o mon e
A o o Bl P e ‘:','\.-l1tf':\.fu§t TR
D) Conceptual Understanding iv) Explaining mathematical ideas
=ozo =0 dvumes nedgm Lwdndss, AN0RTT:

Choose the correct answer

Options :
A-1, B-iv, C-11, D-n1

1. ®

A-m. B-1, C-n, D-aw
2. %

A-1i, B-1, C-iv, D-11
3.¢

A-iv, B4, C-iii, D-n
4, %



Question Number : 119 Question Id : 4771873028 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The instructional objectives are:

Options :

2. %

More abstract.

— i L
=180, BEon

3. % :

Bl

Not measurable.

B E o - = =



Question Number : 120 Question Id : 4771873029 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher asks students to guess, "If a square piece of paper iz cut diagonally.
g 2q p pag g L

what shapes will be formed?"

A) Two rectangles
W@y BOLENT
B) Two circles

e m— — —
huzu w,__lﬂ_. o'

C) Two triangles

A eyl
OE ggaﬁ.‘f-unf:'u

D) One triangle

— D -
20035 &8s

This question relates to this academic standard.

Options :
Connections

— g —— ——
= %
e T T T

1. %

Visualisation

Problem solving

— e T —

iu%m.-iu\-,_' [ T
3. %

Reasoning and proof

— il i w d —

ST TS M&-ﬁ a:.:,».uw
4. %

Environmental Studies

Section Id : 477187100
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187159
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4771873030 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plants can be classified into the following categories

L T s . . g e e s [ — il gl il
=nENER 2eim mNfnyen mhcrslalsmite

AZendens:
B) shrubs
cafcraialen
C) trees

ChGDSE‘ thE‘ correct answer
380IPE wUE. R, SO

Options :
A & B {}11]3'
A & B =g,

1. %
B &: C 0111}'
B & C =»%
2. %
A&COHI}'
A&k C=ng
3. %
AB&C

4. &



Question Number : 122 Question Id : 4771873031 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Riya often peels vegetables like carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible, as it helps
improve digestion. The food component in the peel that is likely the reason for

this advice 1s:

-] s (- — v g~ i el 1 - = o Ll B — B gl i ! G Ot
Sl 9EN wmoEim mRTiew =""-.,""'E"? TS, UEFnohoER Eu:aﬁﬁ%wua AT
— | _— - — e, [P — _.-\F.lgu_.._, ) ,.,jﬂ,_a_'- oo — - ﬁ:..- P ——
-U-.d\_)n.l.uul.azf_..u ] o as e hrnl_ @% 1 med TR ke M WAl dUST IBTow Al
o oy -, e - | — o - = i - — - - [ — e - | N R p— - - |
m’*.,a:ﬂu..., DomB ams ReroF %,O.A.-S....-n.-uq -u...u;.la.an-u-..;u ROt WIWESE.W, B [IVIN
R Tatae el s to i o, 2T g — . p—
= U?;“w;ﬁuv&.r NLG.A.-'\‘.H,.HU\-" Hoal WoInol

Options :

Protein

2.4 79

i,? 2""“;1\.‘
3. %

Vitamin
. u DD



Question Number : 123 Question Id : 4771873032 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about hermaphroditism.

(o=

— v, s [ P T — — T o, o A
RO R rRRRC W, =O0IRT ZePEclomo, MoTodd),

H

Options :

Hermaphrodites can only reproduce asexually.

BETFRRR, Tk S ohEmeh w508, Scevecs &, SRS,
1. ®
All amimals are hermaphrodites by nature.
L SO T B EE: SuRrgycd, B,
2.
Hermaphrodites possess both male and female reproductive organs.
BROFRRIR, TN Mo By, Brv, FCTIRRES 8, VonnFRs, Bwohes
3.¢

Hermaphroditism occurs only in plants.

- -y

0 20— — — - — — —
BEIED ie-u{-.?"ﬂ’-‘,—:u_m WDE; BoBIwTa

ml

—
[=>=] M

- =
SAREETI

=,

4.%



Question Number : 124 Question Id : 4771873033 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary purpose of rearing the Kangayam bullock 1a:

Boricdo 890k BeedohiFs, TBRTT WYLFPEE YR 3
Options
Racing
T
bl e [ DT
1. ®
Milk production
Fows B T8
2. %

Drought work

goms o3
3.¢
Wool production
HUE. USRI
4.% T

: Yes Display Question



Question Number : 125 Question Id : 4771873034 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the device commonly used in industrial chimneys to reduce air

pollution by removing particulate matter from flue gases from the following

Options :

(Fas turbine

1. %
Electrostatic precipitator
BB, D, 1T B)AdtItiTT
2' H&? =
Heat exchanger
IR JathohEads
3. %



Question Number : 126 Question Id : 4771873035 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food item should be done on:

JE: RS K P P R — L g — O 3. o — =2 2
St EREray,  am s rﬁanwﬁou.-fuu? "u.-a-;a-iu«'..: Shzmn *-.r-'\.n.-cP vl Pl
A) Cooked food

Eﬁ"“ JAD =T

B'] Raw food

- Pl ople]
Choosze the correct answer

T, 1 .-53_
Pl o ot 2 td \.-uu w'\.lv e bt

Options :

A 01113'

R
A 3L3EE

1. %
B 01‘113'
2. % e
Both A& B
A& Batze
3.¢

Neither A nor B

F \_-\.ui.fw.-_. B. e
4. %



Question Number : 127 Question Id : 4771873036 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

Options :



Question Number : 128 Question Id : 4771873037 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The balance of oxygen and carbon dioxide in the atmosphere 13 maintained

through:

C) Photosynthezis — Animals

= TNae I R, [ N i ey _.-a;
wamuw e T B S A

Options :
A & B only
A& B=ng

1.+
B&Conly
- B & C =%,
L'—*L&Cﬂlﬂj’
A& C=mg
3.8

AB&C



Question Number : 129 Question Id : 4771873038 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following declared a ‘no drive zone’ within a 2.5 km radius of the

Taj Mahal?

Options :

oOdeoh HTITE ; FRFEE
1. v
Central Pollution Control Board
Beots; WO, Acthosr word
2. ®
Supreme Court of India
POCEE Rodyro BmetsE
3. %

Ministry of Environment. Forest and Climate Change

i

— e —
TR %wo'\.a"‘a_',ww-l_

4. %



Question Number : 130 Question Id : 4771873039 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water is available in the form of ice and

snow?

Options :
1
10

1. ®
1
2. % 3
5
&

3. %
2
3

4.



Question Number : 131 Question Id : 4771873040 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy
sources.

- T ;o — —— - = e - — T -
N-LJEE'E}N:QHW 1:'.?.4-"\.! P ] \HJ‘&:‘ 5\.-5-5-.- r-\}a:uu_r_.w Cﬂf%":':ma-_\.-d

o B
! e !
Options :
Renewable energy sources are always more efficient than
non-renewable sources in energy conversion.
TDFORUTITE 0PE THwornss cinmanen ogs SoEErRond.,
SHeFdRoIRE  Thweondhcd s, ZOFTLF0IATE.E
1. %

Non-renewable energy sources are infinite and can be replenished
naturally within a short time span.

Yy - — — — - - - — R = S R =
RAEDRTENE oRE RWWLLNT CRoSmanN®: wuEy, & exdoke, &, RArswmon

":J:-Guﬁ el d?&ﬁ.’; ‘.E'-IE':EMEU:U
2. %
Both renewable and non-renewable energv sources emit equal levels of
g q
sreenhouse gases during energy production.
2OFDIWT T BB, SOF0ITINT oRR Trorivh 32, vuE TRoh
_ AHoHTY,., FARPR FHhkd,,E SATEE AR, BATINRZE.B

Renewable energy sources include solar. wind. and geothermal. while

non-renewable sources include coal. oil. and natural gas.

4.



Question Number : 132 Question Id : 4771873041 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following food items help in inereasing the guantity of blood in
the human body?

-e—;--h—, e, e el 2 R T L e —'—H—'—"-l—‘
"a'i gih e : ol mEeEmrnT HJ‘J_\L"U-\'V\J I.m":-:lﬁw?-n‘.\_,., Ué el wm&!"‘ﬁ-\.. G‘Dﬂa__f\l\-#v J-\h:iﬁbv.h

Options :

L BT, AecED BhE, WY W

Peanut bar. gingelly bar (Til), and eggs

FRS Tk Tch, ook ol (RBeF), =, Sntd, Nk
2.

pme B — T _-._5_—¢ Ha—io--u —
T ATl Codiles SOLENITY GadiEnd

3. % i

ol

—t 3 - o .
2,08 sy, = é,w....ﬂ..

4.% 7 ”



Question Number : 133 Question Id : 4771873042 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1565, the five Bahamani Kingdoms jomned together and defeated this

Vijayanagara ruler at Rakkasi Tangadi war

Options :
Achyuta Raya

25,8 TIo%

1. ®
Aliva Rama Raya
wook Tozkoack
2.
Venkatapati Raya
Posuizd Dok
3. %



Question Number : 134 Question Id : 4771873043 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainiam, the Rashtrakuta rulers

were

Options :
Chandra Gupta II and Udayana

o o — — - e —
r.-&ﬁn.nj_,; g II s, YUEE

1. %
Kharavela and Samprathi
L8R ew whds, RoE,E

2. ®

Hamundaraya and Kharavela

p— N =

- — o —
S BTo0 TS, c‘;.d_a)b.-'w,_\.;

Amoghavarsha and Krishna IV

4. &



Question Number : 135 Question Id : 4771873044 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1956, the number of States and Union Territories created by the States

Reorganisation Commission

Options :

14 states and 6 Unign Territories

1.

28 States and 9 Union Territories

28 Totsgnive W, 9 Sl BEEE i
2. ®

18 States and 7 Union Territories

18 Towynis T8, 7 SeommnB9E E8303nss
3. %

20 States and § Union Territories

T o
Ch'—\-,__l T

il

29

|

i - Pty S (S - e O
(= 8 :ECw5§f£ "u‘:-.iwfdrfi"‘:—.,‘u



Question Number : 136 Question Id : 4771873045 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the Prime Minister of India between 1989 and
1991

21 2URIRTD., 20,05 1989 hds, 1991 T S@ Pder BaossimAcdy,,

Options :
LK Gujral

8.8, nuesyoT
1. %
Deve Gowda
5 ® SemenedE
Vishwanath Prathap Singh
DI mT° T,TOT° Ao
3. %

Morarji Desal

Do e — T
ToF g le e

£,
el

-
T

4.



Question Number : 137 Question Id : 4771873046 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is the aim of 4274 constitutional amendment of the Indian

Constitution
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Making the Judiciary subservient to Parhament
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Enactment of the Official Language Act
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Question Number : 138 Question Id : 4771873047 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ravi 1s travelling from New York to New Delhi by Aeroplane. Then Rawn
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loses time of 4 minutes as he crosses every longitude
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neither gains nor loses the time
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Question Number : 139 Question Id : 4771873048 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau
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The Satpura Range
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The Mahadev. the Kaimur range and a portion of Maikal Range
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Question Number : 140 Question Id : 4771873049 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, the major tea producing region among the following is
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The hilly regions of Assam
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The Baba Budan Hilly Region
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Question Number : 141 Question Id : 4771873050 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in

drought prone areas is to

T e o T g R [ - [HE S TI: J NS P | [ R p—— 5 — R - [ - |
WoraEE TRENTU,, Ao, WIDRNCR Ailrx=iy TO050F i,w.-w Tawoddy UG 3000

Options :

Strengthen the community and enable them to plan for proper

utilization of natural resogurces
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Provide water to drought prone areas continugusly
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Question Number : 142 Question Id : 4771873051 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

haltta Prahalada, the first tallie movie which was released m 1931 was
Bhal:ta Prahalada. the first tall hick 1 d 1931
produced by
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Raghupathi Venkaiah Naidu
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Question Number : 143 Question Id : 4771873052 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

To spread awareness among daliths by using Popular Folk Arts. Bhagva Reddy

Varma started
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Adi Hindu Society
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Question Number : 144 Question Id : 4771873053 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This amendment made to the Indian Constitution says that “the state shall
provide free and compulsory Education to all children between the ages 6 and 14
vears
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Question Number : 145 Question Id : 4771873054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a science lesson. Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning

Interaction is primarily being emphasized in this activity?
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Question Number : 146 Question Id : 4771873055 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is least relevant when evaluating the effectiveness of a

sclence period plan at the primary level?
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Motivation of students in the teaching-learning process
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Effectiveness of assessment methods
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Question Number : 147 Question Id : 4771873056 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An EVS teacher, Kalpana, always encourages her students to decide the final
result not with a single observation. but after making several observations.

This 1= called:

5 e R e e ] _— 7 . Pt i — S
=oR0 & LQ-IE_:H-!'_U En‘_ﬂ: ﬁ\.v o Pt ) v wE R FE TN - e Mw&q@fl’i‘—'\.
= =2 T

P e J e — o 0 . —— - Dot — L S
SUEats SRNCRCTN T @R mOEU BT § [ =nils ot ‘_'\-lhg-l'ﬁn-un.ﬂ.d
e ey — — g — P e P Y - -
Cﬁ':;, :Ganécﬂduwﬂe,_,u B P == Eum&ﬁu&_w

Options :

1.¢
Classification
b @ WNeFET
Prediction
- N A -

Questloning



Question Number : 148 Question Id : 4771873057 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005, the following are to be taught in Environmental Studies

at Primary Stage
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Question Number : 149 Question Id : 4771873058 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The lesson — “Child Rights” — was developed based on the following theme in
Environmental Studies
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Question Number : 150 Question Id : 4771873059 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following activity will NOT help the teacher to create the effective

EVS (Environmental Studies) classroom environment
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Discuss in groups
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